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- program Collatz;
{$APPTYPE CONSOLE}

uses
SysUtils;

procedure co(x:integer);
begin
if x>1 then begin
weite(x." *):
if x mod 2 = @ then x:=x div 2
else x:=3*x+1;
co(x)
end
else writeln(1)
end;

begin
writeln('ler appel : co(2)');
co(2);
writeln('2e appel : co(7)');
co(7);
writeln('3e appel : co(-2006)');
co(-2006);
readln

end.
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- program Exponentiation;
{$APPTYPE CONSOLE}

uses
SysUtils;

var b:extended;
e:integer;

function puissrapid(base:extended; expo:integer):extended;
begin
if expo=0 then puissrapid:=1
else if expo mod 2 = @ then
puissrapid:=puissrapid(base*base,expo div 2)
else
puissrapid:=base*puissrapid(base,expo-1)
end;

function puissgen(base:extended; expo:integer):extended;
begin
if (base=0) and (expo<=0) then begin
writeln('Erreur : mauvaises valeurs !');
puissgen:=1 { par convention }
end
else begin
if expo<@ then begin expo:=-expo; base:=1/base end;
puissgen:=puissrapid(base, expo)
end
end;

begin
repeat
write('Base : '); readln(b);
write('Exposant : '); readln(e);

writeln('Puissance : ',puissgen(b,e))
until (b=0) and (e=0);
readln

end.




